BA Media and Communication Studies

Q. N. English Language Question Tex| Option A Option B Option C Option D
1 |The term ‘Fourth Estate’ is . . .
The Press The Parliament The Judiciary The Executive
used for___
2 | TheFil d Televisi
e. I m'an N ev.|5|on a) Lucknow b) Kolkatta c) Pune d) Mumbai
Institute is located in:
3 [Which of these films is a
The Great d) Madapall
Malayalam Children’s film 3) . ] b) Sir c) The Teacher ) . patly
. Indian Kitchen United
released in 20227
4  |Who is known as the ‘Lad d) None of the
, , y a) Sarojini Naidu |b) Mother Teresa |c) Sister Nivedita )
with a Lamp’? above
5 |‘Madhubani’ style of painting
is popular in which state? a) Uttarakhand |b) Bihar c) Uttar Pradesh [d) Tamil Nadu
6 |Television is a/an a) Visual b) Audio-visual [c) Audio d) None of the
medium medium medium above
7 |Hindi Patrakarita Divas is . d) None of the
celebrated on: a) 19 June b) 30 May c) 24 April above
8 [Whois the author of . . c) George .
. a) VS Naipaul |b) John Fiske ) 8 d) Amitav Ghosh
Animal Farm Orwell
9 [When is the International Day
of Non -Violence celebrated? |a) February 21 |b) March 21 c) October 2 d) December 25
10 [What is the outermost
layer of the earth’s a) Stratosphere |b) Thermosphere |c) Exosphere d) lonosphere
atmosphere called?
11 |Which article of the Indian
Constituti fers the Right
onstitution conters te MENt 1) Article 19 b) Article 25 ¢) Article 30 d) Article 24
to freedom of speech and
expression?
12 is 7 i Maximization
What is ‘MSP" in relation to a) Minimum b) Maximum c) d) None of the
Farm laws? . . of Standard
Support Price Support Price . above
Practices
13 [Who is the governor of . . . . |c) Shiv Prasap d) Lt Gen
Vikas Nigam |b) Jagdish Mukhi
Uttarakhand? ) & ) Jag Shukla Gurmeet Singh
14 |In Indian history, Mughal .
n Indian history, Viughals a) Guptas b) Cholas c) Khiljis d) Lodhis
came after
15 [What is the full form of a) Goodsand |b) Goodsand |c) Goodsand d) Gross Sales
GST? Services Tax Sales Tax Sell Tax Tax
16 |Name of Mughal Sarai . b) Deendayal d) Swami
) a) Bahubali . .
Junction was changed to? Junction Upadhyay c) Kashilunction|Avadhootanand
Junction Junction
17 |Wh the followi d) None of the
. ° ?mong € foflowing a) Manik Shaw |b) Cassius Clay [c) Don Bradman )
is a cricketer? above
18 |Which one of the following is
NOT a novel by Munshi a) Guide b) Godan c) Gaban d) Nirmala
Premchand
19 [IIMC stands for: a) Indian Institute |b) Indian Institute

of Marketing
Communication

of Mass
Communication

c) Integral Institute
& Media Centre

d) None of the
above




20

What does PIB stand for?

a) People’s
Information Body

b) Public
Information
Broadcasting

c) Press
Information
Bureau

d) Public Interest
Bureau

21 [Styrofoam is an example of d) Non-
y P a) Primary b) Secondary c) Biodegradable )
Biodegradable
Pollutants Pollutants pollutants
pollutants
22 |P.Sainathis a: A
) b) A Crime c) A Srilankan d) None of the
Development .
. Reporter Journalist above
Journalist
23 |Cin CMYK stands for a) Communicate |b) Collaborate c) Copy d) Cyan
24 |Numismatics is the study of
umismatics 1s the study o a) Stamps b) Numbers c) Space d) Coins
25 m/hichlndian state did the . .
game of Polo originate? a) Manipur b) Meghalaya |[c) WestBengal |d) Rajasthan
26 [The highest peak of the
: : . a) Nanga .
Himalayas located in India b) Mt. Everest |c) K2 d) Kanchenjunga
ic Parbat
27 [Auteur in film studies . . c
uteurin i uat a) Writer b) Director ). d) producer
means the Cinematographer
28 [When was the last soccer FIFA
2014, b) 2022, . .
world cup held and who won ) ) . c) 2022,Spain [d) 2022, Brazil
Germany Argentina

it?

29

A small aperture means -

a) less depth of
field

b) deep depth
of field

c) nodepth of
field

d) neutral depth
field

30 [Who directed the movie, a) Ashutosh b) Ayan c) Ashish .
5 . . ) d) Robin Bhatt
Brahmastra? Gowarikar Mukherjee Mukherjee
31 [Which of the following is NOT Central b) Press
. . . & a) ) . c) Press Trust of |d) Publication
a Media Unit of Ministry of Bureau of Information indi Divisi
. ndia ivision
1&B Govt of India: Communication |Bureau
32 |Radio Rural Forum was an
agricultural related a) Asianet b) Doordarshan [c) All India Radio [d) Gyanvani
program of?
33 [The book ‘Green Signals:
Ecology, Growth, and a) Arnab . .
Democracy in India’ is Mukherjee b) Jairam Ramesh|[c) Amratya Sen [d) Arundhati Roy

authored by:

34

What do you mean by ‘indie’
films:

a) Films made by
Indian
filmmakers

b) Films made by
West Indian
filmmakers

c) Films made by
govt sponsored
filmmakers

d) Films made by
independent
filmmakers

35

The Constitution Day
(Samvidhan Diwas) is
celebrated on

a) October 27

b) November 27

c) October 26

d) November 26

36

The instrument used in lie
detecting is

a) Sesimograph

b) Polygraph

c) Phonograph

d) Detectograph

37

The response generated
towards a certain
communication is called

a) Publicity

b) Persuasion

c) Feedback

d) none of these

38

TV, Radio, Internet are the
various of
communication

a) Message

b) Tools

c) Carrier

d) Path




39 [Monitor, printer, speakers are
. d) None of the
devices of a computer:[a) Input b) Output c) Memory
above
40 |The barri f th . .
€ arrl'er(‘J € a) Language b) Physical c) Psychological [d) All of the
communication can be ) ) .
. Barriers Barriers Barriers above
categorised as:
41 |What is/are the element(s) .
a) norms, b) constructions
of Cultural Knowledge? . c) Both(a)and |[d) None of the
values and of reality, and
, (b) above
symbols worldviews.
42 |NALSAR stands for: a) National b) National ) d) National
c) National Academy
Academy of Academy of : " |Academy of Legal
. . - . of Livestock Studies .
Logical Studies Livelihood Studies Studies and
and Research
and Research and Research Research
43 | IMC stands for a) Indian Media [b) Involvement of|c) Informed d) Integrated
& Media & Marketing Marketing
Communication [Communication [Communication Communication
44 | The AJK Mass
Communication Research |a) Lucknow b) Kolkatta c) New Delhi d) Mumbai
Centre is located in:
45 [If "receiver" is the listener,
reader, or observer, then a) Audience b) Producer c) Message d) None
he/she is the
46 | ‘Adi "is a: Sci b) Mythological
Adipurush’is a a? .C|ence _) ythologica c) Documentary film |d) All of the above
Fiction film
47 |Which of the following is not a . d) None of the
) a) Radio b) TV c) Book
mass media: above
48 |Which of the following is not
associated with the UNO? 3 IO b)  ASEAN ¢} WHO d)  UNESCO
49 |The Press Commissions were
. . sslons W a) Reveal c) Warnusthat [d) Condemn our
appointed in: ) b) 1952 and . .
negative aspects ads sell us things |emotional
. 1978 , . .
of media we don’t need reactions to media
50 | Mohiniattam dance form
o ) a) Andhra .
developed originally in b) Tamil Nadu |c) Kerala d) Karnataka
] Pradesh
which state?
51 |[The book of Parsis is a) Geeta b) Bible c) Torah d) Zend Avesta
52 | In which th, Vishu i .
nwhic m?n IShu s a) January b) February c) March d) April
celebrated in Kerala?
53 [The Nati | Anth first
¢ National Anthem was st | .\ 1950 b) 1947 ¢) 1913 d) 1911
sung in the year
54 |The absorption of ink b capillar diffusion of ink
. P ) Y a) ) PSR . ) . 9 d) None of the
blotting paper involves action b) viscosity of ink |through the above
phenomenon blotting

55

Who is the director of the
movie Sherni?

a) Amit Masurkar

b) Vinay Waikul

c) S.S. Rajamouli

d) R. Balki

56 [Whatis Parsi New year known d) N fth
5 I | ew yearinow a) Pateli b) Nowruz c) Puthandu ) None of the
as? above
57 |When is the World
enisthe Wor a) June?29 b) September3 [c) July11 d) December 10

Population Day observed?




58 |Full form of POCSO Act 2012 is|a) Protection of|b) Prevention of|c) Prohibition of
. . d) None of the
Children from Children from Sexual Offence above
Sexual Offence  |Sexual Offence |against Children
59 [HCF of 26 and 91 is: a) 15 b) 11 )19 d) 13
60 |Whatisthe value of pirtto | 5 1yg b) 3.1222 ¢) 3.1416 d) 3.1411
four decimal places?
61 [The price of the book is
marked 20% abo.ve the C.P. d) None of the
If the marked price of the [a) Rs. 150 b) Rs. 145 c) Rs.240 above
book is Rs. 180, then what
is the cost of book?
62 |If 5500 copies of a book are
published and total cost
incurred amounts to Rs.
82500, then what should be |a) Rs. 19.50 b) Rs. 19.15 c) Rs.18.75 d) Rs. 17.50
the selling price of each book
so that the publisher can earn
a profit of 25%?
63 [Whatis the year 1982 in d) None of the
a) MCMLXXXII b) MCMXXCII c) MCMLXXLI
Roman Numerals: above
64 |When was the first penal |\ g0 b) 1890 ¢) 1908 d) 1860
code enacted in India?
6> ,Wh?t Is found necessarily a) Water b) Curd c) Whiteness d) Cream
in milk?
66 [Madhav ranks seventeenth in
a class of thirty-one. Whatis |a) 13 b) 14 c 15 d 16
his rank from the last?
67 |Yardisto inch as quart is to a) Gallon b) Milk c) Liquid d) Ounce
68 ElaFEd s to d.espondent as a) Tolerant b) Miserable c) Aware d) Ignorant
enlightened is to
69 |Pointing to a photograph of a
boy Suresh said, "He is the son ¢ Uncle d) None of the
of the only son of my mother."|a) Father b) Brother
How is Suresh related to that (Maternal) above
boy?
70 [‘A’isthe brother of ‘B’ and
‘K’. ‘D’ is the mother of ‘B’
and ‘E’ is the father of ‘A’. |a) Bisthe b) Aisthe father|c) D isthe wife of|d) A s the son of
Which of the following brother of K of K E D
statements is not definitely
true?
71 [If A+ B meansAisthe
brother of B; A - B means A
is the sister of Band A x B
means A is the father of B. [a) M-NxC+F  [b)F-C+NxM  |[oMxN-csf |2 Noneofthe

Which of the following
means that C is the son of
M?

above




72

A can do a work in 15 days and
B in 20 days. If they work on it
together for 4 days, then the
fraction of the work that is left
is:

a) 1/10

c) 7/10

d) 8/15

73

Complete the series 256,
289, 324, 361,

a) 400

b) 462

c) 500

d) 441

74

Which of the following is
not a leap year?

a) 2000

b) 800

c) 1600

d) None of the
above

75

If C=3, CEP= 24. What will be
the value of HUX?

b) 53

c) 49

d) 52

76

Complete the series 1, 1, 2,
6,24, ?, 720

a) 120

b) 100

c) 84

d) 520

77

A towel, when bleached, was
found to have lost 20% of its
length and 10% of its breadth.
The percentage of decrease in
area is?

a) 10%

b) 30%

c) 25%

d) 28%

78

Present ages of Sameer and
Anand are in the ratio of 5 :
4 respectively. Three years
hence, the ratio of their
ages will become 11:9
respectively. What is
Anand's present age in
vears?

a) 22years

b) 32 years

c) 28years

d) 24 years

79

The Synonym of CORPULENT:

a) Hidden

b) Obese

c) Surreptitious

d) Obscure

80

The Antonym of QUIESCENT

a) Dormant

b) Active

c) Weak

d) Unconcerned

81

A sum of money is to be
distributed among A, B, C, D in
the proportionof 5:2:4:3.If
C gets Rs. 1000 more than D,
what is B's share?

a) Rs.500

b) Rs. 2000

c) Rs. 1500

d) Rs. 2500

82

Fate smiles ...... those who
untiringly grapple with stark
realities of life.

a) over

b) with

c) on

d) round

83

Isawa ...... of wolves in the

a) pack

b) herd

c) group

d) flock

84

...... of old paintings is a job for
experts

a) Resurrection

b) Restoration

c) Retrieval

d) Resumption

85

That which cannot be
corrected

a) Indelible

b) Incorrigible

c) lllegible

d) Agnostic

86

State in which the few govern
the many:

a) Oligarchy

b) Monarchy

c) Autocracy

d) None of the
above

87

SYMPHONY: COMPOSER

a) Leonardo:
music

b) colours: pallet

c) art:
appreciation

d) Fresco: painter

88 [MUNDANE: SPIRITUAL a) worldly: b) common: . .
c) routine: novel [d) secular: clerical
unworldly ghostly
89 |TEN: DECIMAL a) seven: septet |b) four: quartet |c) five: quince d) two: binary
90 [To make clean breast of a) To praise b) To tell truth c) Togain d) None of the
onself about something |prominence above




91

To put one's hand to plough

a) to take up
agriculture

b) to take a
difficult task

c) to putone’s
focus

d) to get
entangled in
unnecessary
things

92 [Find the correctly spelt word.

ysp a) Treacherous [b) Treachrous c) Trechearous d) Trecherous
93 [Find the correctly spelt word. . . .

vsp a) Itinarery b) Itinerary c) Itenary d) Itinarary
94 [Change the voice- After b) After being

driving professor Kumar to the
museum she dropped him at

a) She dropped
him at his hotel

driven to the
museum,

c) Prof. Kumar
was picked from

. after bein the museum and |d) None is correct
his hotel. . g Professor Kumar )
picked from dropped at the
museum was dropped at hotel by her
his hotel by her y
95 |Change to indirect speech-"If |a) Calmly he c) He warned her

you don't keep quiet, | shall
shoot you", he said to herin a
calm voice.

warned her that
be quiet or else
he will have to

b) He said calmly
that | shall shoot
you if you don't

calmly that he
would shoot her if
she didn't keep

d) None is correct

shoot her. be quiet, quiet.
96 [She was relieved the
pain after the effects of a) From b) Of c) Off d) With
medicine
97 |Reshma travelled
her father a) With, Over b) With, around [c) by, over d) for, around
all the world when

she was 12 vears old.

98

Correct the sentence- The
workers are hell bent at
getting what is due to
them

a) Hell bent for
getting

b) Hell bent with
getting

c) Hell bentin
getting

d) Hell bent on
getting

99

Name the part of speech of
the underlined word in the

following sentence: They a) Noun b) Conjunction |c) Verb d) Adjective
while away their evenings
with books and games.
100 |[The expression, ‘A wave of L _ d) None of the
P a) Simile b) Infintive ¢) Metaphor )

terror washed over him’ is

above




